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¥/ After syngamy and triple fusion
in embryosac, embryo will be

diploid and endosperm will be

\
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w.\_: honey bees and some lizards
female gamete undergoes
development to form new

organismswithout fertilization.

This phenomenon is called
pistie o €rEts

A. Final community that is in near
equilibrium with environment in

ecological succession is called
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\a\ Morphologically and genetically

similar individuals are called
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5. Natural interlinked food chains are

called (Score : 1)

6 MOET is a programme for herd
improvement. Expand MOET.
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7. A novel strategy to prevent
nematode infestation is based on

‘RNA interference’.
a) Explain RNA interference.

b) Can you suggest, how itcan be
used for producing nematode

resistant plant.

\m%a the statements below and

identify the mode of interaction

(Scores : 2)

between the species.

a) Tiger eating deer

b) Butterfly feeding pollen

¢} Human liver fluke feed on snail

d) Lice onhumans
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a) sy mIAem BHdleanyomy.

b) ayemuod) esllonim aymiog.

C) e2fl@ ®oemeqjsyem Human
liver fluke.

d) amyanyBl@d H:06meas3am cald.
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e) Orchid attached to a tree

f) Mycorrhizal association of fungi

and roots of higher plants
g) Sparrow eating seed

h) Egrets foraging close to cattle

(Scores : 2)

. Sophic was born with a genetic

disorder — ADA deficiency.
a) What is ADA deficiency ?

b) Can you suggest methods to
treat this ADA deficiency ?

(Scores : 2)

A list of organisms are given. Place
them in different trophic levels.

Grass, Man, Fishes, Birds, Lion,
Grasshopper, Zooplankton, Trees.

(Scores : 2)
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In summer we use air conditioners

and in winter we use heaters. Im_.m
homeostasis is accomplished by
artificial means. Explain four ways
by which other living organisms
cope with the situation.

(Scores : 2)

Plant breeding programmes are
carried out in a systematic way in
research organizations. Explain
main steps in breeding to produce

anew genetic variety. (Scores: 2)

Environmentalists usually says :

'There are many causes for
biodiversity losses'. lllustrate four
major causes of anzma? loss.

(Scores : 2)
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14. Jayareadin a Biotechnology book
that m_mm.: DNA can be introduced
into host cell by micro injection and
biolistics. Explain these methods.

(Scores : 2)

15. Species diversity decrease from
equator towards poles. Ecologists
proposed various hypothesis.
Suggest two hypothesis for this

phenomenon. (Scores : 2)

\@\Om:mzo Engineering include

creation of recombinant DNA with

the help of restriction enzymes.

a) Explain recombinant DNA

technology.

4 b) What are restriction enzymes ?
Name a restriction enzyme.

(Scores : 2)
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@ i) Flowering plants evolved an
array of adaptations to achieve
pollination.

a) Explain pollination.
b) Point out adaptations found

in flowers forinsect poliination

and wind pollination.
c) lllustrate pollination in
Vallisnaria.
OR
ii) Artificial hybridization is one of
the major approaches for crop
improvement programme. In
such crosses it is important to
avoid unwanted pollen.
\M Explain how can we protect
stigma from unwanted pollen
@ How artificial pollination can

be performed ? (Scores :4)
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